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上理工附中2014学年第二学期高一英语月考1试卷

I. Listening Comprehension. （20%）
Section A  Short Conversations （10%）

Directions: In Section A, you will hear ten short conversations between two speakers. At the end of each conversation, a question will be asked about what was said. The conversation and the question will be spoken only once. After you hear a conversation and the question about it, read the four possible answers on your paper, and decide which one is the best answer to the question you have heard.

A. Kate’s baby in the youngest.              B. The man’s baby in the youngest.

C. The woman’s baby is the youngest.         D. The man’s sister’s baby is the youngest

2.  A. He will go on to higher education          B. He will work for his father.

   C. He will make some other choice.           D. He has to pass another test.

3.  A. He must hand in a report on the museum.

   B. He is too busy to go along.

   C. He has to wash his hands first.

   D. He has read a full account of the museum.

4.  A. No, all the rooms are taken               B. Yes, there are some spare rooms.

   C. Yes, there is a double room.               D. Yes, there is a single room.

5.  A. 60               B. 57                 C. 65               D. 53

6.  A. Green            B. Light blue           C. Yellow           D. Brown

7.  A. At 5:00           B. At 4:20             C. At 3:00           D. At 2:00

8.  A. It is going to rain                       B. It has just started raining

    C. It has been raining for some time          D. The rain has stopped.

9.  A. A new tendency.                         B. A disease that is spreading

    C. Something that spreads over the entire body.  D. A recent fire in the area.

10. A. She visits hotels.                         B. She tours museums

   C. She walks through town                   D. She doesn’t eat till evening.

Section B  Passages （6%）  

Directions: In Section B, you will hear two short passages, and you will be asked three questions on each of the passages. The passages will be read twice, but the questions will be spoken only once. When you hear a question, read the four possible answers on your paper and decide which one would be the best answer to the question you have heard.

Questions 11 through 13 are based on the following passage.

11. A. She had the head of a cat                 B. She was an animal.

   C. She was pretty                         D. She had wings.

12. A. They loved doing something for the person.

   B. They believed the person could live another life.

   C. They thought the person would sleep peacefully.

   D. They wished the person to come back home.

13. A. Food and drink                         B. A mask made of jewelry.  

   C. Huge structures                        D. Things needed in life.

Questions 14 through 16 are based on the following passage.

14. A. He wanted to take a shortcut              B. It was getting dark.

   C. There were no lights around              D. He didn’t like the owner.

15. A. Being blamed       B. Being attacked      C. Being caught    D. Closing the gate.

16. A. The land owner      B. His own shadow    C. A strange sound  D. His own fear.

Section C  Longer Conversations （4%）

Directions: In Section C, you will hear two longer conversations. The conversations will be read twice. After you hear each conversation, you are required to fill in the numbered blanks with the information you have heard. 

Blanks 17 through 20 are based on the following conversation.
	Travelling by Air

	The woman said she’d enjoy the man’s _______17________.

	It was the woman’s first air trip _________18___________.

	The take-off was ____________19____________.

	Because of the air ________20__________, the man’s ears hurt.


Complete the form. Write ONE WORD for each answer.
II. Grammar and Vocabulary (33%)

Section A   18%
Directions: Beneath each of the following sentences there are four choices marked A, B, C or D. Choose the one answer that best completes the sentence. 

21. The number of deaths from cancer will be reduced greatly if people _____ to eat more fruit 

and vegetables.

A. persuade

B. will persuade
C. be persuaded
D. are persuaded

Stephen Hawking believes that the earth is unlikely to be the only planet ______ life has developed gradually.

A. that


B. where


C. which


D. whose

Up to now, the Hope Project ______ thousands of children who would otherwise have died.

A. would save

B. saves


C. had saved

D. has saved

______ in a well-known university is what everybody wishes for.

A. Educated

B. Being educated
C. To educate

D. Educating

He made a mistake, but then he corrected the situation ________ it got worse.

A. until


B. when


C. before


D. as   

If you are travelling _________ the customs are really foreign to your own, please do as the Romans do.

A. in which

B. what


C. when


D. where

27. His funny joke in the speech ______ all of us present and we couldn’t help laughing yesterday.

   A. was amusing     B. was amused       C. amused          D. amusing

28. — Do you have any problems when you ______ this job?

   —Well, I’m considering the salary and working conditions.

   A. offered         B. will be offered      C. are offered        D. offer

29. We should pay great attention to safety in schools because of frequent reports about accidents 
_______ students got injured or killed while in school.

A. in which
   B. for which
        C. which
          D. that

30. I was much impressed by great changes and fast pace of life in Shanghai ______ I came to 
visit this fantastic city.

A. at the first time      B. for the first time     C. by the first time    D. the first time 

31. Once harm ______ to the environment, it takes years to have the system recovered.

A. does


  B. is done


C. will be done
  D. be done

32. Worldwide markets get tighter and the pain only lasts longer ______ international cooperation is strengthened in no time.

A. because

  B. if



C. unless 

  D. when

33. The entry point tissue in the very front of eye functions as the window ______ all light has to pass on its way.

A. which


  B. that



C. across which 
  D. through which

34. Taking physical exercise regularly is an effective way to avoid ______ with the flu.

A. to infect

  B. infecting


C. to be infected
  D. being infected

35. ______ strong-minded the teachers are, they should give their students enough time to share their ideas in class.

A. However

  B. Whatever

C. No matter 

  D. Although 

36. The government must find an _______ policy to deal with this problem.

   A. effective          B. effect           C. efficient         D. effort

37. As we approached the border, the picturesque natural ________ became lush and spectacular.

   A. view             B. sight           C. scene           D. scenery

38. The suspension bridge _______ across the whole valley.

   A. expands          B. extends         C. spreads          D. stretches

Section B   6%
Direction: Complete the following sentences by using the phrases from the box in their proper forms. Note that there is one phrase more than you need.
	be available to 
	depend on 
	tower over
	within arm’s reach

	point out 
	have something to do with
	be obliged to 
	insist on


39. I should __________ selling the car will cover just the hospital expenditures

40. The government might ___________ put its money where its mouth is to prove its commitment 

41. Cheap goods ___________ us , but not in sufficient quantities to satisfy demand.

42. Whether such properties are a good deal ____________ individual situations

43. Does this ____________ Bauer going back in there to question Markov?

44. Mozart _________ all other musicians.

Section C   9%

Direction: Complete the passage by choosing the proper words in the box.
	A. guidance
	B. thoroughly
	C. sense
	D. master
	AB. procedures.

	AC. crossroads
	AD. gratitude
	BC. remote
	BD. affect
	CD. contacts


There are two basic differences between the large and the small enterprises. In the small enterprise you operate primarily through personal ___45____. In the large enterprise you have to establish “policies”, “chemicals” and fairly strict ____46____. In the small enterprise you have, moreover, immediate effectiveness in a very small area. You can see the effect of you work and of your decisions right away, once you are a little above the ground floor. In the large enterprise even the man at the top is only a cog(轮齿) in a big machine. His actions ____47_____ a much greater area than the actions and decisions of the man in the small organization, but his effectiveness is ____48____, indirect, and difficult to see at first sight. In a small and even in a middle-sized business you are normally exposed to all kinds of experiences, and expected to do a great many things without too much help or ____49____. In the large organization you are normally taught one thing _____50_____. In the small one there is the danger is of becoming a jack-of all-trades and _____51_____ of none.

There is one other important thing to consider: do you get a deep ___52____ of satisfaction from being a member of a well-known organization, such as General Motors, the Bell Telephone System? or is it more important for you to be well-known and important figure, a big fish, within your own small pond? There is a tremendous difference between life in a small office on the top floor of skyscraper and life in a _____53_____ gas station.  

III. Reading Comprehension  (27%)

Section A:   15%

Direction: For each blank in the following passage there are four words or phrases marked A, B, C or D. Fill in each blank with the word or phrase that best fits the context.

    Music is a powerful thing. It exists everywhere in our daily life. When played properly, some music can have ____54____ effects on learning and attitudes.

    One day that music can make ___55___ easier is teaching people abstract reasoning and learning skills. When listening to music, people ______56_____ the task in their heads and exercise the same ___57_____ skills that engineers, chess players and high-level mathematicians use. _____58____, the advice on music skills and enjoyment ___59___ a lot of useful things about learning skills to help to ___60____ children’s understanding and judgment.

    ___61___ important thing that music can ____62____ for people of all ages is ___63___. The special structure of music helps children learn to trust themselves and improve their self-confidence and sense of achievement. Thus, their attitude toward learning are highly improved.

    Besides increasing _____64___ attitudes, listening to pleasant music after working may release the stresses and strains of ___65____ and spirit. Notice that ___66___ people listen to music, it is very important that they listen to the music that they are familiar and ___67___with. Currently, there are many types of music and different kinds of music have different effects on different people. So in order to help us think, learn and work, we need to know what kind of music is suitable for us to _____68____. 

 54. A. positive      
B. negative         
C proper         
D. powerless

 55. A. learning       B. imagining         C. listening         
D. teaching

56. A. imagine      
B. think          
C. use      

    D. listen

 57. A. abstract        B. imaginative        C. concrete          
D. mathematical

58. A. Moreover      B. However      
    C. Therefore      
D. Thus

59. A. takes on
    B. provides    
    C. accesses  
        D. offers

60. A. increase       B. multiply          
C. develop         
D. raise

 61. A. Other         
B. Another          
C. The other          D. The others

62. A. take       
B. play     
        C. imagine          
D. change

 63. A. structure       B. activity        
C. attitude       
    D. skills 

64. A. negative     
B. reasonable        
C. understandable      D. positive

65. A. bodies     
B. minds     

C. heads       
    D. humans

 66. A. when    
    B. what      
    C. since     
        D. before

67. A. pleased    
B. satisfied      
    C. soft     
        D. comfortable

68. A. listen to       B. look at        
    C. make       
    D. work

Section B:  8%

Direction: Read The following passages, Each passage is followed by several questions or unfinished statements. For each of them there are four choices marked A, B, C or D. Choose the one that suits best according to the information given in the passage you have just read.

(A)

One of the most important parts in the healthy development of a child is played by education. But the way in which education is understood has changed completely, as we must not forget that the severe and unfeeling way of bringing up a child in the past was primarily based on cruel grounding and strict rules that were supposed to create accomplished individuals, the typical gentlemen. Nowadays, society is much more open-minded and it does not put a great value on being strict, although this doesn’t mean that opinions regarding this subject do not differ.

One the one hand, there are also people who believe that there has got to be abound between teacher and student if any satisfying results are awaited. Luckily for us, more and more teachers are understanding this fact and are doing their best ot get over the strict rules and get in touch with us.

My opinion is that only by having a friendly attitude and accepting other opinions, especially those of your pupils, you are truly able to do your job at high standards. However, this does not mean that a teacher shouldn’t be a bit tougher when he feels that things are getting out of hand.

All in all, I must say that a good teacher is the teacher that has the ability to be kind and strict at the same time thus achieving to gain his student’s respect and interest.

69.According to the passage, the narrow-minded people think _______.

a pupil is always interested in what he is learning.

a pupil himself will improve his studies.

children should be made to study

children don’t like a tough hand

The underlined word “job” in the last paragraph can be replaced by _______.

A. controlling    B. teaching    C. learning     D. punishing

71. The author thinks a good teacher should be _______.

       A. kind and strict           B. skilled and clever   

C. tough and cruel          D. friendly and practical

72. It can be inferred from the passage that ________.

       A. society is much more open-minded and being strict is out of date

       B. as long as the teachers are strict with students, the students will certainly get good marks.

      C. most people are in favor of strict teachers because they have strict rules.

      D. if we expect students to develop in a healthy way, the good relationship between teachers and students is important.
 (B)

Eating popcorn in the cinema may be irritating not just for fellow movie goers, but for advertisers: a group of researchers from Cologne University has concluded that chewing make us immune (不受影响的) to film advertising.

The reason why advertisers manage to imprint brand names on our brains is that our lips and the tongue automatically stimulate the pronunciation of a new name when we first hear it. Every time we re-encounter the name, our mouth subconsciously practises its pronunciation.

However, according to the study published in the Journal of Consumer Psychology, this “inner speech” can be disturbed by chewing , making the repetition effect redundant (累赘的). For their experiment, the researchers invited a group of 96 people to a cinema to watch a movie preceded by a series of advertisments. Half of the participants were given free popcorn throughout the experiment, the other half only received a small sugar cube which immediately dissolved in their mouths.

A test at the end of the screening showed that the advertisments had left no effect on those viewers who had chewed their way through popcorn throughout, while the other participants showed positive psychological responses to the products they had encountered in the ads.

“The activity of eating popcorn made participants immune to the effects of advertising,” said Sascha Topolinski, one of the researchers.

He goes as far as implying that his research may lead to the end of the traditional popcorn machine in cinema foyers (门厅), “This finding suggests that selling popcorn in cinemas actually destroys advertising effects, which contradicts present marketing strategies. In the future, when prompting a new brand, advertising clients might consider trying to prevent popcorn being sold before the main movie.”
Which of the following is similar in meaning to “irritating” in the first paragraph?

A. fascinating    B. welcome    C. stimulating    D. annoying

74. In the experiment, those who chewed popcorn _______

       A. showed positive psychological responses to the advertised products.

       B. were disturbed frequently by the advertisements.

     　C. enjoyed the movie more

       D. were unable to recall the advertised products.

75.  Which of the following is TRUE according to the passage?

       A. The research may lead to the disappearance of popcorn machines in cinemas.

       B. Selling popcorn in cinemas will contribute to the advertising effects.

       C. Preventing popcorn being sold will not help promote a new brand.

       D. Selling popcorn in cinema is in line with current marketing strategies.

76.  What is the main idea of the passage?

       A. How to carry out successful advertising in cinemas
       B. Chewing makes people immune to film advertising.

       C. Why are film-goers discouraged from eating popcorn?

       D. The future of advertising in cinemas.

 Section C  4%
Direction: Read the passage carefully. Then answer the questions or complete the statements in the fewest possible words.

    In Europe, men do not usually wear skirts. But the Scottish national costume for men is a kind of skirt. It s called a kilt. The Scottish lie to be different. They are also proud of their country and its history and they feel that the kilt is part of that history. That’s why the men still ear kilts at old-style dances and on national holidays. They believe they are wearing the same clothes that Scottish men always used to wear.

    That’s what they believe. However, kilts are not really so old. Before 1730, Scottish men wore a long shirt and blanket around their shoulders. These clothes got in the way when the men started to work in factories. So , in 1730 a factory owner changed the blanket into skirt – the kilt. That’s how the first kilt was made.

    Then, in the late 1700s Scottish soldiers in the British Army began to wear kilts. One reason for this was national sentiment. The Scottish soldiers wanted to look different from the English soldiers. The British Army probably had a different reason. A Scottish soldier in a kilt was always easy to find. The Scottish soldiers fought very hard and became famous. The kilt was part that fame, and in the early 1800s men all around Scotland began to wear kilts.

    These kilts had colorful stripes going up and down and across. In the 1700s and early 1800s, the color of the stripes had not special meaning. Men sometimes owned kilts in several different colors. But later the colors became important to the Scottish families. By about 1850, most families had special colors for their kilts. For example, men form the Campbell family had kilts with green, yellow and blue stripes. Scottish people often believe that the colors of the kilts are part of their family history. In fact, each family just chose the colors they liked best.

    This is not the story you will hear today if you are in Scotland. Most Scottish people still believe that kilts are as old as Scotland and that the colors are as old as the Scottish families. Sometimes feelings are stronger than facts!

(Note: Answer the questions or complete the statements with NO MORE THAN 10 WORDS)

The first kilt was made by ________________________
By about 1850, Scottish families _________________________
When do men in Scotland wear kilts now?

_____________________________________________________________

What was the symbolic meaning of Scottish soldiers’ kilts?

____________________________________________________________

IV. Writing    (20%)

Section A   5%

Direction: Complete the following sentences using the given verbs in their proper forms.

No harm _______(do) to your health if you dream a little when you are sleeping.

If you cross the street carelessly, you risk _______ (knock) down by a car.

I forgot ___________ (turn) off the light when I left home this morning. It is still burning.

Much attention have to be paid to ________ (do) the work on the construction of the building.

The opponent _______ (prove) too strong for him.
Section B    15%

Direction: Translate the following sentences into English, using the words given in the brackets.
这本关于电脑的书值得一看。(worth )

如果你能帮我们解决这个问题，我们将不胜感激。（appreciate）

我们越是强调英语口语的重要性，我们就越会尝试去练习它。（emphasis, attempt）

这座40层楼高的桥一映入眼帘，我们就收到了来自导游的指令。（instant, view）

这个在名单中名列前茅的著名的旅游胜地受到了来自国内外游客的欢迎。（ranks，receive）

2014学年第二学期高一英语第一次月考试卷答案
1- 5   DABAD      6-10   CCCBB      11-13   ABD       14-16   ACD

 17. company      18. abroad     19. smooth     20. pressure

21-25 DBDBC     26-30 DCCAD     31-35 BCDDA     36-38  ADB

39. point out    40.   be obliged to    41.  are available to    42. will depends on /depends on  43. has something to do with    44. towers over/towered over

45
-53  CD   AB   BD    BC    A   B    D   C    AC

54
– 68 AAAA    BCBDC    DAADA

69- 72  CBAD

73 -76 DDAB

77.
a factory owner

78.
 had special colors for their kilts

79.
 At old-style dances and on national holidays.

80.
 They showed that Scottish soldiers were famous brave soldiers.

81.  will be done   82. being knocked    83. to turn   84. doing   85. has proved/proved

86. The book on computer is worth reading.

87. We’d appreciate it very much if you’d help us (to) solve/ work out the problem.

88. The instant the 40-story bridge came into view, we received the instruction from our/the tour guide.

89. The more emphasis we put on oral /spoken English, the more attempts we will make to practice it.

90. The famous tourist attraction which ranks high on the list is well received by tourists at home and abroad.
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